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s o s Sy OF AMmODI:
N + Mg > 2NHyy
@, How many litres of N, are llcukd 1o react comy il
2 letely with 37.
Hyif both gases are at STP? (1 mark) S ALy

3790 4, (
b. How many MOLES of NH, will be i
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4. A common laboratory proparation of hyd
rogen on & smal scale usesthe
;‘e;;non of zinc with hydrochloric acid that produces zine chloride and i

a. Prvvldeahdlnmdeqmlmn (1 mark)
ZasHCl = z,\oL < U,

b. Ilwlnuduimiluededmmlhzsothydxm
Give your answer in MOLES and GRAMS. (3 marks) s
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Stoichiometry Test
Part 2 Problem Solving

! Clear defie & of th fllowing terms; (1 marks)
les tatio limiting Teactant  theoretical yield
percent siekd el yield

@

2. Aluminum chloride (AlCl) is formed by the reaction of al
lvdmdllunc acid (HCT). [’7 marks) sl i
Provide a balanced equation. (1 mark)
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b. :IJI;w(;nlnyfﬁmhsM hydmchlunc acid will react with 5.0 moles of
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e How man aluningm ch
anﬁ)m wm chloride will be produced if 7.0 g of

d. How many §ams of Al are required to produce 0.25 grams of axct?

(3 marks)
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5. Rock salt (KCI) can be produced according to the following reaction:
2Ky + Clagy > 2 KClg)
In an cxperiment, a chemist placed 58.5 § of potassium and 1.00 moles of
chlorine into a closed container and completed the reaction above.
4. Before the mclmn. the chemist predicted the pohunun wo\lld limit
the reaction. Do you agree or disagres with this p
caleulations to explain your reasoning. 13 ‘marks)
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b.  How magy moles of rock salt will be produced using the numbers.
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. How many grams of the excess chemical will remain after the
reaction? (2 )
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d. I 126 moles of rock salt are actu:
percentage vield of rock salt?
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